

Olaayo Abass Abodeji  
 16/ENGG03/061  
 Civil Engineering

20/10/2017

Assignment

1)

$$y = e^{x^2+2x}$$

$$y' = (2x+1)e^{x^2+2x}$$

$$y'' = 2e^{x^2+2x} + (2x+1)(2x+1)e^{x^2+2x}$$

$$y'' = 2y + (2x+1)y'$$

Hence

$$y'' = y'(2x+1) + 2y$$

$$y^{(n+2)} = y^{(n+1)} \cdot (2x+1) + (n+1)y^{(n)} \cdot 2$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

2)

$$y = x^3 e^{4x}$$

$$y^{(n)} = U^n V + n U^{(n-1)} V' + \frac{n(n-1)}{2!} U^{(n-2)} V^2 + \dots$$

Let  $x^3 = V$  and  $e^{4x} = U$

$$y^5 = (4)^5 e^{4x} + x^3 + 5(4)^4 e^{4x} \cdot 3x^2 + 10(4)^3 e^{4x} \cdot 6x + 10(4)^2 e^{4x} \cdot 6 + 0$$

$$y^5 = 1024x^3 e^{4x} + 3840x^2 e^{4x} + 3840x e^{4x} + 960e^{4x} + 0$$

$$y^5 = e^{4x} (1024x^3 + 3840x^2 + 3840x + 960)$$

11) 
$$x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$$x^2 y^{(2)} + x y^{(1)} + y^{(0)} = 0$$

Using Leibnitz Theorem

$$y^n = y^{(n+2)} \cdot x^2 + n \cdot 2x y^{(n+1)} + \frac{2n(n-1)}{2!} y^n + y^{(n+1)} \cdot x + n y^{(n)} + y^{(n)}$$

$$y^n = x^2 y^{(n+2)} + 2xy^{(n+1)} \cdot n + n(n-1)y^n + xy^{(n+1)} + ny^{(n)} + y^{(n)}$$

$$y^n = y^{(n+2)} (x^2) + y^{(n+1)} (2xn + x) + y^{(n)} (n(n-1) + n + 1)$$

$$y^n = x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2 - n + n + 1)y^{(n)}$$

$$y^n = x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2 + 1)y^{(n)}$$

Hence

$$x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2-1)y^{(n)} = 0$$